R :

ETES S -

mEpa

sEEyR

s [

20 X 30

LA - R AE X712 A : AA
S fymEE B AL
N
{EEHRIZN —
DA :{EEE
S A : A
TA:5|AH
AR -
PO (mm) 12 % | | 8| 2 | W 60 & | e
{EEHEI EEhE B SIAR = g A
Edz 2] 2= =)
{EFREN &E | EE)EY 0,5-7.1 0.3-7.1 0.2-7.1
kgffcm EE)R 2.0-7.1 1.5-7.1 1.0-7.1
{REEMES  kgflem 105
FRRE ‘C 0-60
{EENREFE | EE)E 30-500 30-350 30-250
mm/s |EBHHE! 100-500 -
EEOE M5X0.8 G1/8 G1/4 G3/8
BAETIZ :
e = e e s = T e e e e e e —daVEECER TR A T L et ]
P8 (mm) 12 16 20 25 32 40 50 63 80 100
g 5-60mm 5-90mm 5-120mm
5 i £ 5mm —ik 8 5mm —ik & 5mm —iR
&)
Bl Bt 5-50mm 5-80mm 5-110mm
g B 5mm —#k & 5mm —#R # s5mm —iR
E 5-30mm 5-30mm 5-30mm
= o # 5mm —iR & 5mm —§R 8 5mm —if
&)
& Bft 5-30mm 5-30mm 5-30mm
g 5 5mm —#f £ 5mm —#} 5 5mm —if
BT 60mm 100mm 130mm




AR : (SSA SSAS)

®120 &160
A+iTiz
81 C+i7#e
P3 LP3_
Ml P4 4
g = "
3] -
< PNIE
/ N1\_Q
2=P1 <Y e Elle
@200~1000
D
S R P3 P3
U T1 M_ P4 __F'_#_
A i AN ] ]
% \>Z -
H ) 2 g ‘
B LK T3 @&
H L
O) o]
> N @i 7 Ne
T2 )vfs
\_ 2EE N1 N1
4—P1 K1 =1 e
G
B1 C+i782
As131E
S moE o WO |
PIFENTER A B1 Ci| A Bi (7 D F | G K1 L | M N1 N3 (6]
12 32 5 27 42 5 37 4 1 M3X0.5 3 6mm 11 3 6.5 B M5x0.8
16 34 55 | 285 | 44 55 | 385 4l s M3X0.5 3% 6mm 11 3 7 6.5 | M5x0.8
20 35 55 | 295 | 45 55 | 35| 36 | 4 |15 M4X0.7 iF 8mm 15 | 3 7.5 < M5x0.8
25 37 31 47 41 42 | 4 M5X0.8 ZB10mm 178 : M5X0.8
32 415 345 | 515 445 | 50 | 4 MBX1 3B12mm 22 | 3 s G1/8
40 43 36 53 46 | 585| 4 M8X1.25 Fi2mm | 28 | 3 10 5 Gi/8
PIENFFER P1 P3| P4 R S T | T2 u vV | W X Y b4
12 8 06,55 M5X0.8 B3, : @35 12 | 45 - 25 | 162 | 23| R16 | 6 5 E 1
. 16 % : 06.5FM5X0.8 B3 : ©3.5 12 | 45 | - 29 198| 28| R19 | 6 5 : 1
20 5« 06 5FM5X0.8 @3l : @35 14 | 45 | 2 34 | 24 R22 | 8 6 | 123 10 1
25 A @8.0FMeX1.0 B3 : 046 15 | 55| 2 40 | 28 Bes (G0 | & | 1238 1o 1
32 58 : 08.0FM6eX1.0 @3 : 046 16 | 55 | 6 44 | 34 R295 (12 | 10 |229| 16 | f
40 €58 : 00.55M8X1.25 &3l : 957 20 | 75 | 65 | 52 | 40 Ra5 (16 | 14 |235] 16 | 186






